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O0000OCacheD OO OOOOOODO SQL> Oselect
segment_name,segment_type,header _file,header block 2 from
dba_segments where segment_type=CACHE.SEGMENT_NAME
SEGMENT_TYPE HEADER_FILE
HEADER BLOCK--======m == oo oo e 1.417
CACHEl14170 0000000000000 OO0O0
014170 0000010041700 000 OO0 Cache O
OOracleD 00 00OOODOODOOO bootstrap$d O O O O
DJo00o00o00o00odoUoUdbootstrap OO OO
0141700000000 SQL> Oselect
b.object_id,a.segment_name,a.segment_type,a.header_block from
dba_segments a,dba_objects b 2 where
a.segment_name=Db.object_name( ) and a.header_file=1 and
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